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Sample Paper – 2010

Class – X
 Subject -Maths
M.M : 80

General Instructions:

1. All questions are compulsory.

2. The question  paper consists of 30 questions divided  into four    sections –  A, B, C  and  D. Section  A  contains  10  questions of  1  mark  each, Section  B  is of  5   questions of  2 marks  each, Section  C  is of 10 questions of 3 marks each  and  section  D is  of  5 questions of 6 marks each. 

3. In question on construction, the drawing should be neat and exactly as per the given measurements.
4.  In question on construction, the drawing should be neat and exactly as per the given measurements.

5. Use of calculator is not permitted.  .
SECTION –A

1. State Fundamental Theorem o f Arithmetic.
2. If one zero of the quadratic polynomial 5x2 + 13x + a is reciprocal of the other, find the value of a.
3. For what value of k for which the pair of linear equations 2x + 3y = 7 and 4x + ky = 14 have infinite number of solutions. 

4. The sum of two of natural numbers is 8. Find the numbers if the sum of their reciprocal is 8/15.
5. The nth term of an A.P is 18. Its first term and common difference are 50 and – 4 respectively. Find the sum of first n terms of the A.P.
6. What measure of central tendency is represented by the abscissa of the point where the “less than Ogive“

 and “ more than Ogive” intersect ?
7. A cone, a hemisphere and a cylinder stand on equal bases and have the same height. Show that their volumes are in the ratio 1 : 2 : 3.
8.  Evaluate : cos2 200 + cos2 700 + sin 480. Sec 420 + cos 400. Cosec 500.
9. In 
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ABC, DE||BC and AD:DB = 4:13, if AC = 20.4 cm , find AE.
10. A card is drawn from a well shuffled pack of 52 cards. Find the probability that the card is neither a red card nor a queen.
Section – B
11. Which term of an A.P. 3, 15, 27, 39…………………. Will be 132 more than its 54th term.
12. If x cos A – y sin A= a and x sin A + y cos A= b, then prove that x2 + y2 = a2 + b2.
13. If the points ( - 1, 3), ( 1, -1) and ( 5, 1) are the vertices of triangle, find the length of the median through the  third vertex.
14. Two right triangles ABC and DBC are drawn on the same hypotenuse BC and on the same side of BC. If AC and DB intersect at P, prove that AP x PC = BP x PD.
15. Find the ratio in which the line 3x + y – 9 = 0 divides the line segment joining the points ( 1,3 ) and ( 2,7 ).
SECTION –C

16. Show that 5 - √3 is irrational. 
17. Prove that : √ (1 + cos A / 1 – cos A ) = cosec A + cot A.
18. A box contains 12 balls out of which x are black. If one ball is drawn at random form the box, what is the
probability that it will be a black ball?
If 6 more black ball are put in the box, the probability of drawing a black ball is now double of what it was before. Find x.
19. Three consecutive vertices of a parallelogram are ( a + b, a – b ), ( 2a + b, 2a – b ) and ( a – b, a + b ). Find the fourth vertex of the parallelogram.
20. ABCD is a trapezium in which AB||DC. Diagonals AC and BD intersect each other at O. 
Prove that AO/OC = BO/OD
21. The incircle of 
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ABC

touches the sides BC, CA and AB at D, E and F respectively. If AB = AC,
prove that BD = CD.
22. If tan A + sin A = m, tan A – sin A = n, then show that m2 – n2 = 4 √(mn).
23. If two zeroes of the polynomial x4 – 6x3 – 26x2 + 138x – 35 are 2 + √3 and 2 - √3, find the other zeroes of the polynomial.
24. The inner circumference of a circular track is 440 m. The track is 14cm wide. Find the cost of leveling it at 20 paise/sq. m. Also find the cost of putting up a fencing along outer circle at Rs 2/metre.
25. A person on a tour has Rs 4200 for his expenses. If he extends his tour for 3 days, he has to cut down his daily expenses by Rs 70. Find the original duration of the tour.
SECTION –D

26. A boat can go 20 km upstream and 30 km downstream in 3 hours. It can go 20 km downstream and 10 km upstream in 5/3 hours. Find the speed of the boat in still water and speed of the stream.
27. i.  A man standing on the deck of a ship which is 10m above water level, observes the angle of elevation of   

    the top of a hill as 60 and the angle of depression of the base of the hill as 30. Calculate the distance of 
    the hill from the ship and the ship and the height of the hill. 

ii. An aeroplane when 3000m high, passes vertically above another aeroplane at an instant when the angle of elevation of the two aeroplanes from the same point on the ground are 60 and 45. Find the vertical distance between the two planes.
28. Prove that the ratio of the areas of two similar triangles is equal to the ratio of squares of their correspond sides.

Using the above, prove the following : the diagonal of a trapezium ABCD with AB||DC intersects each other at the point O. If AB = 2CD, find the ratio of the area of triangle AOB to the area of triangle COD

29. A toy is in the form of a cone mounted on a hemisphere. The diameter of the base of the cone is 7 cm and its height is 14.5 cm. The toy is dipped into a cylindrical tank filled with water upto the brim, having radius 2m and height 40cm. Find the volume and surface area of the toy also find the volume of water displaced through the tank. ( pi = 3.14 ) 
30. The following table shows the marks obtained by 100 students of class X in a school during a particular academic session. Find the mode of this distribution.
	Marks (Less than)
	10
	20
	30
	40
	50
	60
	70
	80

	No. of students
	7
	21
	34
	46
	66
	77
	92
	100



Change the distribution to a more than type distribution and draw its ogive.
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